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________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________A
, slopes  Þ&amp;negative, and thus the solutions are reduced. A , C  Þ&amp;slopes and thus the growth of solutions. The equilibrium solution appears positive, to which all other solutions converge. C &gt; œ Þ&amp;a b 3. The slopes ( c )  Þ&amp; :9=3tive, and thus the solutions increase. In the case  C, Þ&amp;T has slopes, and thus the solutions are reduced. It seems that all solutions differ from the equilibrium solution . C &gt; œ Þ&amp;a b 5. The gradings (c)  Î# :9=3tive, so that the solutions increase. In the case  C, the
slopes , and thus the solutions, are reduced in the case of Î#. Each solution negatively differs www.ziie.ir from 2. —————————————————————————— —— 1. _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ C &gt; œ Î#a b 6. A (c  # 9 =3tive) slopes, and thus
the solutions increase. The C  # case of the slopes, and thus the solutions are reduced. All solutions differ from the negative from the equilibrium solution . C &gt; œ • #a b 8. To approach the equilibrium solution, you must have #Î C &gt; $a b C  C balance. C  #Î$ C ! C  #Î$w w a and for. The required fees are 10000000 . C œ # , $Cw 9. The solutions, as they differ from those, should be another ever-growing C &gt; œ #C œ # C &gt;a b function b and the function . The simplest difference is C  #decreasing # C is an equation
whose solutions meet these criteria . C œ C , #w 10. For solutions like mismatch, you need C&gt; œ Î$C œ Î$C  !a b w a , and . The required prizes are  Î$C ! C  Î$w equation. C œ $C w 12. Remember that the and . The two equilibrium solutions and C œ ! C œ! C œ &amp; C &gt; œ !w a b C &gt; œ &amp; C ! C &amp;&amp;a b . Based on the direction field, the ; so solutions with a starting value when desicmating from the solution. Because, the slopes are bigger &amp; C &gt; œ &amp; !  C &amp; b is negative among
solutions with initial values, and everything is decreasing towards it! &amp; www.ziie.ir 3. —————————————————————————— —— 1. ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Mert , a lejtők mind ; so solutions initialC &gt; œ ! C  !a b positive values are less than to
approach the solution .! C &gt; œ !a b 14. Notice that the and . The two equilibrium solutions are aC œ ! C œ! C œ # C &gt; œ !w a b and . Based on the direction field, the ; so solutions initialC &gt; œ # C  ! C  #a b w values as a deviation. Because, the slopes are bigger # C &gt; œ # !  C  #a b positive between and so solutions for initial values and all growth towards it! C &gt; œ # C  !a b . Because, the slopes are all ; so solutions with initial negative values are different from the solution .less ! C &gt; œ !a b 16. Have the full
amount of the drug in the patient's body ata b a b + Q &gt; milligrams at any given time . The drug is administered to the body&gt; 2 &lt;= &amp;!! a= b= constant=&gt;&lt;/=&gt; &lt;Þ the= rate= at= which= the= drug= the= bloodstream= is= given= by= hence= theleaves= !þ%q=&gt; Þa b accumulation rate of the drug describes the differential balance . Q .&gt; œ&amp;amp;  ! Þ% Q 71Î2 &lt; þa= b= a= b,= based= on= the= direction= field,= the= amount= of= drug= in= the= bloodstream= approaches= the= equilibrium= level= of= #&amp;!=
71= a3=&gt; 238 + 0/A 29?&lt;= þa= b= 18 —————————————————————————— www.ziie.ir. _____________________________________________________________________=page=7=71==@=.@===&gt; # or equivalent, .@ .&gt; 7 œ 1 # # # a b, 啦! ÞLong after a while, therefore, the object reaches the given by.@ .&gt; top speed @ œ Þ 71 _ Ê # a b- @ œ 71 œ ! Þ!%!) 51Î=/- Using the connection, #_ # drags the peri-19. Each solution seems to approach a linear asymptot. Is it easy toa bA3&gt;2 =69:/ /;? +6
&gt;9 make sure this is the solution. C &gt; œ &gt; a b 20 $a. www.ziie.ir 5. —————————————————————————— —— 1. _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________&gt;__ Þa b 23. All solutions appear to come from sinusism , C &gt; œ =
=38Ð&gt;  Ñ a b $ # %È 1 , which is also the solution corresponding to the initial value . C! œ&amp;amp; Î#a b 25. It seems that all solutions are approaching. First of all, the rate of change is small. TheC &gt; œ !a b slopes eventually increase very rapidly in the .magnitude 26th www.ziie.ir 6. —————————————————————————— —— 1.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________However,
the slope field is determined by the following implicit equation &gt; . It follows that the solutions withy-capture C œ ! È initial values , all solutions increase without bound values. For solutions  C and È values at values in the range ), slopes are retained and c  !  C  'È Èand is negative and therefore these solutions are reduced without any bound value. Solutions with initial conditions in the  C  ! È initially increases. As soon as the solutions reach the critical the slopes will be negative and negative. TheseC is (&gt; 1)&lt;/=&gt;
&lt;/Þ&gt; &lt;/Þ&gt; eventually decreases bound. www.ziie.ir 7. —————————————————————————— —— 1. ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ C &amp; C œ .&gt; Þ Az egyenlet mindkét oldalának integrálása
az eredmények azt eredményezik, vagy ennek megfelelően, 68 &amp; C œ &gt;  -k k &amp; C œ - / C ! œ Ca &gt; . The initial condition is applied to the b ! is permanent as . Therefore, the solution- œ &amp; C C &gt; œ &amp;  C &amp; / Þ! !a b a b a b &gt; All solutions seem to be approaching the C &gt; œ &amp; Þa b 1 Rewrite the differential formula asa b- Þ . C! The #C œ .&gt; Þ Integrating both sides of the equation 68 ! the #C œ &gt;  - # k k equivalent, &amp; C œ - / C ! œ C##&gt; . The initial condition is applied to the b ! is
permanent as . Ezért a megoldás- œ &amp; C C &gt; œ &amp;  C &amp; / Þ! !a b a b a b ##&gt; Minden megoldás úgy tűnik, hogy közeledik az egyensúlyi megoldáshoz, de a C &gt; œ &amp;a b gyorsabb, mint az 1a Þ 2-ben A differenciálegyenlet átírható asa b + Þ www.ziie.ir 8. —————————————————————————— —— 1.
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________ C C &amp; œ .&gt; Þ Az egyenlet mindkét oldalának integrálása az eredmények az eredmény , vagy ennek megfelelően,68 C &amp; œ &gt;  -k k C &amp; œ - / C ! œ C&gt; . The initial condition is applied to the b ! is permanent as . Therefore, the
solution of c&amp;C &gt; œ &amp;  C &amp; / Þ! !a b a b &gt; All solutions seem to be different from the equilibrium solution . C &gt; œ &amp;a b 2 Rewrite the differential formula asa b, Þ . C #C &amp; œ .&gt; Þ Integrating both sides of the equation results in 68 #C &amp; œ &gt;  #C &amp; œ - / C ! œ C#&gt; . The initial condition is applied to the b ! is permanent as . Therefore, the solution of #C &amp; C &gt; œ #Þ &amp;  C , #Þ &amp; Þ! !a b #&gt; All solutions seem to be different from the equilibrium solution . C &gt; œ
#Þ&amp;a b 2 . The differential formula can be rewrered asa b- . C #C the ! œ .&gt; Þ Integrating both sides of the equation results in the #C œ &gt;  k C&amp;œ - / C ! œ C#&gt; . The initial condition is applied to the b ! is permanent as . Ezért az oldat- œ C &amp; C &gt; œ &amp;  C &amp; / Þ! !a b a b #&gt; www.ziie.ir 9. —————————————————————————— —— 1.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ C &gt; œ &amp;a b 3 . A rewriting asa b+ . C C The () +C œ .&gt; that applies to it. Integrating the two sides results in the equivalent of either C A, Î+ 68 , + C œ &gt;  - + k k k, . Therefore, the general
solution, a + C œ - / C &gt; œ , - - / Î+ Þ +&gt; a &gt; b a b a b Note that if, and equilibrium solution. C œ ,Î+ . CÎ.&gt; œ! C &gt; œ ,Î+a b a b, As it increases, the equilibrium solution gets closer to a, from above b a b3 + C &gt; œ ! Furthermore, the convergence rate of all solutions, i.e. also increasing.+ As it increases, its equilibrium solution b33 , C &gt; œ ,Î+a b will also be higher. In this case, the convergence rate remains unchanged. If and both increase ,a b a b 333 + but constant,Î+ œ then C &gt; œ ,Î+a b equilibrium solution remains the
same, but the convergence rate of all solutions increases. 5 . Consider the simpler equation. Like the previous solutions, again with b + . C Î.&gt; œ • +C type the equation as follows: . C C œ + .&gt; Þ Integrating the two sides c &gt; œ - / Þa b a b a b, Þ C &gt; œ C &gt;  5Now set and replacing the original differential with c &gt; œ - / Þa b a b &gt; a b a b, Þ C &gt; œ C &gt; œ C &gt;  5Most set. We'll find www.ziie.ir 10 years. —————————————————————————— —— 1 is replaced by the following:
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
œ + C  5  , b . That is, and so ., 5 , œ! 5 œ , b a b- C &gt; œ - /  , Î + Þ. the form specified by the text. An initial condition (a b a b ( C ! œ C! refers to the term solution c &gt; œ , Î+  C a , Î + / Þa b a b &gt;! The general solution is , .a b a b a b a b+ : &gt; œ *!!  - / : &gt; œ *!!  :  *!! &gt; &gt;# The special solution will be . This solution is one: œ )&amp;! : &gt; œ *!!  &amp;!/! Î# the b&gt; decreases exponentially, and so the extinction time is equal to the number of months it takes, say, for the population to reach. Solving , you
will find that &gt; *! &amp;&gt; &gt; 0!! And it's not my fault. œ &amp;þ()0 a b .months a b a b a b, : &gt; œ *!!  :  *!! /The solution is exponential until! Î #&gt; descending :  *!! *!!  :  *!! / œ !! ! Oh yes, no, no, no, no Therefore just root, given bya b &gt;0 one &gt; œ # 68 Þ *! *!! � : 0 ! Œ  b a b-,. In part, the answer is a general equation that relates extinction time to the value of the initial population. Setting , the equation can be written&gt; œ #0 months *!! *!! � œ / ! , which provides a solution . Because of the initial population, the
appropriate: œ)*(Þ('* :! ! answer .: œ)*)! mice 7 . The general solution is to use the . Based on the discussion in the text, time isa b a b + : &gt; œ : / &gt;! &lt;&gt; measured value. Assuming the hypothesis can be expressed asmonths month day œ$! : / œ #: &lt; œ #! ! &lt;† . Solving the ratio , (b) monthly units . a b, R œ RÎ$!. months. The hypothesis mathematically : / œ #:! ! &lt;N 0= .= it= follows= that= ,= and= rant= the= rate= constant= is= given=&gt;&lt;/N&gt;&lt;RÎ$! œ= 68= #=&gt;&lt;/RÎ$!&gt;&lt; œ= $!= 68= #= îr= þa= b= b= the=
units= are= referred= to= be= .per= month= þa= 9= .= assuming= ,= with= positive= direction= taken= as= ,a= b+= no= resistance= downward= newton's= second= law= can= be= expressed= as= 7= œ= 71= .@= .=&gt; in which the value measured in the corresponding units. The equation is 1 gravity constant www.ziie.ir 11th —————————————————————————— —— 1. ___&gt;  &gt; &gt;
an.@Î___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ initial speed .@! in (b) article 2(2) the following shall be replaced by the following Let's say the object is released from above ground. Usingunits is the fact that,
in which the object, you can obtain@ œ. B.&gt; B. by moving downwards, the differential balance of the displacement as the origo is placed. BÎ.&gt; œ 1&gt;  @ Þ! at the point of issue, the result of direct integration . Based on the B &gt;œ 1&gt; Î #  @ &gt;a b # ! coordinate system, the object reaches the ground when . Let the time B &gt; œ 2 &gt; œ Xa b be that the object must reach the ground. You. The 1X Î #  @ X œ 2# ! second degree formula, which is used by the .X X œ Þ @ @ @  #12 1 ! È The answer corresponds to the
time it take for the object to fall to the ground.positive The negative response means an earlier instant message when the object could have started upwards, only to finally fall down at the speed , bwith the same impact speed @! above ground.2 a b a b a b- &gt; œ X @ &gt; + Þ. The impact velocity is calculated by partially replacing it with @ X œ @  #12a b È ! . 10 , . General solution of the differential formula: Given that b+ U &gt; œ - / Þb # &lt;&gt; U ! œ !! I'm not going to do that. a b , the constant value of a. Therefore, the amount of
thorium-234 mg should be given at any time in the . Also, based on theU &gt; œ!! /a b a * &lt;&gt; hypothesis, setting the speed constant solution, &gt; œ )#Þ!% œ !! Ami &lt; find= that= or=&gt; &lt; œ= = 68= )#þ!%î!! = œ= þ*(*'=&gt; &lt; œ= þ!#)#)a= b= eek= ay= a= b-= x.= let= be= the= time= that= it= takes= the= isotope= to= decay= to= its= originalone-half= amount.= from= part= =it= that= ,= in= which= .taking= thea= b+= &amp;!= œ= =&gt; &lt; œ=&gt; &lt;X eek= natural= logarithm= of= both= sides,= we= find= that= orx= œ=
$þ&amp;!%= x= œ= #%þ&amp;weeks= s= .. +c= 11.= the= general= solution= of= the= differential= equation= is= ,.uî.=&gt; means the initial quantity of the substance &lt; u=&gt; &lt;&gt; Let the time be œ U !! (a) b 7 the substance is derelict to the original quantity . Setting the one half U &gt; œ! 7 solutions, there is . Consider&lt;/X&gt; Account&lt;/X&gt; natural logarithm on both sides, it follows! Þ &amp; U œ U !! &lt;7 =&gt;&lt;/7&gt; &lt; œ= 68= !þ&amp;=&gt; &lt; œ= 68= #= þ7= 7a= b= or= www.ziie.ir= 12.=
——————————————————————————= ——chapter= 1.= ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________=page= 12= 12.= the= differential= equation= governing= the= amount= of= radium-226= is= ,.uî.=&gt; &gt;
&lt; u= with= solution= using= the= result= in= problem= 11,= and= the= fact= that= theu=&gt; decay rate a = œ / Þa b a b a b a dedicated &lt;&gt; time dedicated . The7 œ '#! &lt; œ= 68= #= î'#!years= per= yeara= b= amount= of= radium-226,= after= years,= is= therefore= let= be=&gt; U &gt; œ U! / Þ Xa b a b (English) !!! %#()'&gt; decomposition of the isotope to the original quantity. Then the setting is $Î% &gt; œ X, and , we get Solving the decayU X œ U ! U! œ U! / Þa b a b a b$ $ % % ! !!! %#()'X time, it follows, either the following or
the ! !!! %#()' X œ 68 $Î% X œ '(#Þ$'a year b . 13. Solving the differential formula, isU! œ !a b U &gt; œ GZ ( þa b a b * ÎGV&gt; As , the exponential expression disappears and so the limit .&gt; p _ U œ GZP 14 . The speed of the chemical . The mother b is b+ Ð! That's it, that's it! Oh $!! accumulation of grams per hour given time, the chemical in the lake&gt; U &gt; Î!concentration grams per gallon b' . Consequently, the chemical is in the pond at a rate of .leaves grams per houra b a b$ ! U &gt;%, therefore, the chemical change rate of the .
U.&gt; œ$ ! !!! $ U &gt;a b gm / hour . Since the pond is initially free of the chemical, . U! œ !a b a b, . The differential formula can be rewriculed as follows: . U!!!! • U œ ! !!! $.&gt; Þ Integrating both sides of the equation into .68 !!!! • U œ ! !!! $&gt;  Gk k Taking into account the natural logarithm on both sides gives . Since then, the !!!! • U œ - / U ! œ !!! !!! $&gt; is the value of constant b. Therefore, the amount of the chemical in the pond is any !!!! the time . Note that . SettingU &gt; œ !!!! (a b a b! !!! $&gt; grams years hoursœ ) ('! &gt; œ) ('!
U )('. œ *#((Þ(((, the amount of the chemical present after that is gram of one year b, i.e. .*Þ#(((kilograms of b- . Now that the exchange rate is equal , the guiding equation becomes zero . UÎ.&gt; œ ! !!! $ U &gt;a b Restore the time variable, now assigning newgm /hr. initial value is . U! œ *#((Þ(((a b gramm a b a b a b. - U &gt; œ *#((Þ(( / Þ. A megoldás a differenciálegyenlet részben a ... !!! $&gt; Ezért egy év vel a forrás eltávolítása, az összeg a vegyi anyag a tóban isafter U )('! œ '(! a b .gramm www.ziie.ir 13.
—————————————————————————— —— 1. ___&gt;_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Bérbeadása, hogy az idő után a forrás eltávolítása, megkapjuk az ! œ *#((N(((/N) ! !!! $&gt; &gt; Taking the natural logarithm on both sides, œ 68 ! Î*#((Þ(( &gt; œ ##ß
(( œ #Þ'a b or .hours years a b0 15 . Let's assume the dye doesn't enter the pool anymore. In fact, the ratio by which thea b + grate the pool isleaves kg/min gm per hour #! † ; &gt; Î'!!!! œ #!! '! Î!!! ; &gt; Î'!c d a bc da b a b . Therefore, the equation that governs the amount of dye in the pool .; .&gt; œ ! Þ# ; bgm/hr . The initial amount of dye in the pool .; ! œ &amp;!!! a b grams a b, . To resolve the governor's differential balance with the specified initial value: &gt; œ &amp;!!! / Þa b ,! Þ# &gt; a b- &gt; œ %. After four hours, the amount of
expensive in the pool can be achieved by setting it. That is, ; &amp;&amp;!!! œ ##%'Þ'% '!ß !!! a b ,! Þ) . Because of the size of the pool, thegrams gallon concentration is grams per gallon of sound.! Þ!$(% of b. X. Let the time that you need to reduce the concentration level of your re! Þ!# ß #!!. At that time, the amount of dye in the pool . Usinggrams/gallon grams is the answer in part, is . Taking into account the natural logarithmab, &amp;!!! / œ #!! ! Þ# X on both sides of the equation results in the required time . X œ (Þ % hours a b / ! Þ#
œ #!! Î!!!. Note that . Consider the differential formula .; &lt; .&gt; !!! œ ; Here, the parameter corresponds to the parameter measured in , . &lt; flow rate per gallon per minute Using the same initial value for the solution in &gt; œ &amp;!!! / Þa b &lt; &gt;Î!!! to determine the correct flow rate, set and . (Recall that a&gt; œ % ; œ #!! #!! gm www.ziie.ir 14 —————————————————————————— —— 1.
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Þ!# #!! œ &amp;!!! / Þgm /gal a &lt; Î#&amp;amp; Taking into account the natural logarithm on both sides of the equation is the result of the required flow rate &lt; œ $&amp;amp; ( .gallons per minute www.ziie.ir 15 —————————————————————————— —— 1. The differential equation is second order because the highest derivative of the equation is in order. The equation since the left linear functions have a linear C and its derivatives. 3. The differential formula, because the highest derivative of function C is in order .
The equation is also a contingent of conditions that contain four linear variables linear and derivatives. Article C 4 The differential formula , because the only derivative is in order . The first order is a dependent variable , so the equation is .squared nonlinear 5. The differential formula . Furthermore, the equation is second-order nonlinear, since the dependent variable is an argument for the , which is a linearC sine does not work. 7. . Therefore, C &gt; œ / Ê C &gt; œ C &gt; œ / C is œ ! Þ a b a b ab&gt; ww ww &gt; ww Also, and . ThusC &gt;
œ -9=2 &gt; Ê C &gt; œ =382 &gt; C &gt; œ -9=2 &gt; C • œ ! Þ# # #a b a b a bw ww ww #9. . Instead of the differential formula, c &gt; œ $&gt;  &gt; Ê C &gt; œ $ #&gt;a b a b# w &gt; $ #&gt; &gt;  &gt; $&gt;  #&gt; &gt; #&gt; œ &gt;a b a b# # # . Therefore, the specific function is the solution. 10. and clearly, isC &gt; œ &gt;Î$ Ê C &gt; œ Î $ C &gt; œ C &gt; œ C &gt; œ ! Þ C &gt; a b a b a b a b a b a b ww www wwww a solution. Similarly, , C &gt; œ /  &gt;Î$ Ê C &gt; œ • /  Î $ C &gt; œ /# # #a b a b b#&gt; w a &gt; ww &gt;
a c &gt; œ / C &gt; œ /www &gt; wwww &gt; # #a b a b, Replacing the left side of the equation, we find that . Therefore, both  % /  /  &gt;Î$ œ / %/  $/  &gt; œ &gt;,&gt; a &gt; &gt; &gt; &gt; &gt; b a b functions are differential formula solutions. 11th and . The equation has to be left &gt; œ &gt; ê C-be &gt; œ &gt; Î# C &gt; œ &gt; Î# Î# # a $*$$Î# a b a bw ww hand of the equation, already #&gt; &gt; î%  $&gt; &gt; Î # &gt; œ &gt; Î#  &gt; Î # &gt; œ! #ˆ € € ,$Î# Î# Î# Î# Î# Î# Likewise, and . The left &gt; œ &gt; Ê C &gt; œ a &gt; C
&gt; œ # &gt; # # # # # # # # # # # # # #a b b w ww hand side of the differential equal, is # &gt; # &gt;  $ &gt; , &gt; &gt; &gt; œ % &gt; a b a ba a ba atúc &gt; &gt; # Therefore both functions are differential solutions. 12. and . In the left hand &gt; œ &gt; Ê C &gt; œ # &gt; C &gt; œ ' &gt; a b bw ww side of the differential equal, &gt; &gt;  &gt;&gt; # &gt;  % &gt; œ ' &gt; a ba b% a ba &gt;  % &gt; œ ! C &gt; œ &gt; 68 &gt; Ê C &gt; œ &gt; # &gt; 68 &gt; # # # Likewise, anda b a b2 w C &gt; œ &gt; &gt;  ' &gt; 68 &gt;ww # % % a b .
On the left side of the equation &gt; &gt;  68 &gt;  &amp;&gt; &gt; &gt; a 68 &gt;  &gt; 68 &gt;  &gt; 68 &gt; œ &gt; &gt;  &gt; 68 &gt; # a b a ba% www.ziie.ir ab% a16 . —————————————————————————— —— 1. ___&gt;
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ &gt; 68 &gt;  % &gt; 68 &gt; œ ! 2 2 2 2 Therefore, both functions are differential formula solutions. 13. andC &gt; œ -9 = &gt; 68 -9= &gt;  &gt; =38 &gt; Ê C &gt; œ ≥ =38 &gt; 68 -9 = &gt;  &gt; -9 = &gt;a bw C &gt; œ - 9 = &gt;
68 -9 = &gt; &gt; = 38 &gt;  =/- &gt;ww a b a b b . On the left side of the differential formula is a b a ba b= -9= &gt; 68 -9= &gt; ≥ &gt; &gt; = 38 &gt;  =/- &gt;  -9 = &gt; 68 -9 = &gt; =3 &gt;8 =9 = &gt;   &gt; =38 =9 = &gt; 68 -9 = &gt; &gt; &gt; = 38 &gt;  =/- &gt;  -9 = &gt; 68 -9 = &gt;  &gt; =3 &gt;8 ==/&gt; Therefore, the function is a differential solution. C (b) Article 15(1) shall be replaced by the Let. Then a , and the substitution of the differential formulaC &gt; œ / C &gt; œ &lt; /a b b&lt;&gt; ww # &lt;&gt; results . Since, we
get the algebraic equation&lt; /  # / œ ! I'm not going to do that. &lt;  # œ ! Þ# &lt;&gt; &lt;&gt; &lt;&gt; # The roots of this equation &lt; œ 3 # Þß# È 17 and &lt;&gt; &lt;&gt;&lt;&gt; &lt; &gt; &lt; &gt; &gt; &lt; &gt; & gt; . Since algebrai&lt; /  &lt; / # / œ ! / A !# &lt;&gt; &lt;&gt; &lt;&gt; &lt;&gt; &lt;&gt; equation , that is . The roots of , . &lt;  &lt; &lt; &lt;  &lt; the following tikb&gt; &lt;&gt; &lt;&gt; &lt;&gt;&lt;&gt; &lt; &gt; &lt; &gt; &gt; &lt; &gt; . Since&lt; / # &lt; /  #&lt;/ œ !$ &lt;&gt; # &lt;&gt; &lt;&gt; / A ! &lt; $&lt;  #&lt; œ! Þ&lt;&gt; $ # ,
we get the algebraic equation control, it follows that . It's clear that the roots& &lt; &lt; the &lt; # œ ! &lt; œ ! &lt; œ &lt; œ &lt; œ # Þa ba b # $ 20. &gt; &gt;&gt; &lt; &lt; &lt;&lt; &gt; &lt; &lt; &lt; &gt; &gt; &gt; &gt; . &lt; &gt;  % &gt; œ !# &lt; &lt; &lt; c d a ba b &lt; &lt; &lt; &lt; &lt; &gt; &gt; &gt; &gt;  &gt;&lt; &lt; a ( A &lt; &lt; œ % Þ# # 21. The order of the partial differential balance , being the highest derivative , is two facts that each is derived derivation . The equation , because the linear hand side of the left order is a linear function of
partial derivatives. 23. The partial differential formula , being the highest derivative, and fourth order is a fact that each derivative is ok . The equation , because the four linear sides on the left, is a linear function of partial derivatives. 24 . The equation is due to the product? Bß C? † b two nonlinear Bs on the left side of the equation. 25th and? Bß C œ -9= B -9=2 C Ê œ • -9= B -9=2 C œ -9= B -9=2 C Þa b ' ? ` ? B C # # # # Obviously, likewise, since, the second? ` ? 'B 'C # # # # # œ! - I don't know what happened. Bß C œ 68 B  C#a b
a b derivatives www.ziie.ir 17 —————————————————————————— —— 1.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
# %B B  C œ - B  C' ? # %C 'C 'C 'C  C œ * B  C # # # # # # # # # # # # # # # # # # # 2 a b a b # # Adding partial derivatives, ' ? ` ? # %B # %C 'B 'C B  C B  C  œ *  * B  C B  C œ % B  C B  C œ ! # # # # # # # # # # # # # # # # # # # # # # # # # # # # 22 a b a b a b # # a bB  C . Therefore, it is also a solution that Equation.? Bß C#a b 27. Let. So the second derivatives? Bß &gt; œ =38 B =38 +&gt;a b - - ' ? B œ ≥ =38 B =38 +&gt; ? &gt; œ + = =38 B =38 +&gt; # # # # - - - - - - - - - - - - Easy to see . Similarly,
since, is there + œ ? Bß &gt; œ =38 B ≥ +&gt; # # ? ` ? B &gt; # # # a b a b ? B œ ≥ =38 B ≥ +&gt; ? &gt; œ + = 38 B • +&gt; # # # # # # # # a b a b A b Is it definitely a partial differential formula?? Bß &gt;#a b 28. As a function of partial derivatives? Bß &gt; œÎ&gt; /a b È1 A% î% &gt; # ? œ ×  Î&gt; / Î&gt; B / # &gt; % &gt; ? œ '  &gt; / #&gt; B / % &gt; &gt; BB – B Î % &gt; # * B Î% &gt; # # &gt; , b î% &gt; # &gt; # &gt; # 1 1 ! # # # # # # # # ! ! ! ! It follows that.! # ? Is it him? œ Â, &gt; # &gt;a b / % &gt; &gt; € € È 1 ! # # B Î% &gt; # # # # !
That's why the solution is the partial differential formula.? Bß &gt;a b www.ziie.ir 18. —————————————————————————— —— 1.
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ A változó radiális távolság, és a szöget a függőlegestől mérik. &lt;) Newton's second law states that the direction of the! F aœ 7 Þ
tangential motion equation can be expressed as the , ie,! J œ 7 +) touch acceleration is linear acceleration, which is the path of positive+ œ P . î.&gt; Þ ð +) direction is) # # # The ascendant . Since only the Weight Component) in the tangential direction is the weight point, the motion equation is ≥ 71 = 38 œ 7P Þ . .&gt; ) # # Ð Note that the radial motion equation contains the tightness of the rod . Oh, b- . Reordering expressions results in a differential formula. 1 .&gt; P  =38 œ ! 19 www.ziie.ir.
—————————————————————————— —— 2. ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ a b a b a b- Þ &gt; œ / C &gt; œ &gt;Î$ Î*  /  - / ÞAz integráló
tényező, és így. $&gt; &gt; &gt; It follows that all solutions are C &gt; œ &gt;Î$ Î* Þa b 2a b+ Þ a b, . All slopes will eventually become positive, so all solutions will grow bound. a b a b a b- Þ &gt; œ / C &gt; œ &gt; / Î$  / ÞThe integrating factor, and so it is. #&gt; # # &gt; # &gt; it's obvious that all solutions are growing at exponential speed. 3a b+ www.ziie.ir 20. —————————————————————————— —— 2. 19 a b a b, C &gt; œ Þ. All solutions seem to converge on the feature! a b a b- Þ &gt; œ / C &gt; œ &gt; / Î#  
- / ÞThe integrating factor, and so it is. #&gt; # &gt; &gt; it's clear that all solutions are approaching a solution . C &gt; œ !a b 4 .a b+ a b, . Based on the field of direction, the solutions eventually become oscillating. b is b- Þ &gt; œ &gt;The integrating factor and therefore the general solution. C &gt; œ  =38 #&gt;  $-9= #&gt; $ - %&gt; # &gt; a b a b a b, in which arbitrary constant. As it gets big, all solutions are approaching C &gt; &gt; œ $=38 #&gt; Î# Þa b a b 5 .a b+ www.ziie.ir 21.
—————————————————————————— —— 2. _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Minden lejtők végül pozitívvá válnak, így minden megoldás növekedni fog kötött. a b a b a b'- Þ &gt; œ /B: #.&gt; œ / ÞThe integrating factor is the differential formula. The &gt;
can be written, ie, integration of both / C # # / C œ $/ / C œ $/ Þ #&gt; #&gt; wa #&gt; a &gt; a *&gt; &gt; on the b side of the overall solution It follows thatC &gt; œ # $ /  - / Þa b &gt; # &gt; all solutions are growing exponentially. 6a b+ a b a b, Þ C &gt; œ! ÞAll solutions seem to converge on the function! b is b- Þ &gt; œ &gt;The integrating factor and therefore the general solution. # C &gt; œ ≥   -9= &gt; =38 #&gt; - &gt; &gt; &gt; b a b a b # # in which arbitrary constant. As it gets big, all solutions for C &gt; function &gt; œ ! Þ!a b 7 .a
b+ www.ziie.ir 22. —————————————————————————— —— 2. ___&gt;______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ ÞAll megoldások úgy tűnik, hogy konvergálnak a funkciót! a b a b a b- Þ &gt; œ /B: &gt; C &gt; œ &gt; /  / / ÞThe integrating
factor, and so it is. # # # &gt; &gt; # it is clear that all solutions converge on the function . C &gt; œ !! a b 8a b+ a b a b, Þ C &gt; œ! ÞAll solutions seem to converge on the function! a b a b b c da b- Þ &gt; œ C &gt; œ &gt;+8 &gt;  G Î ÞWhy the general solution. a b a b  &gt;  &gt; # # # It follows that all solutions converge for the function. C &gt; œ !! a b 9a b+ Þ www.ziie.ir 23. —————————————————————————— —— 2.
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Minden lejtők végül pozitívvá válnak, így minden megoldás növekedni fog kötött. a b a b € ‰'- Þ &gt; œ /B: .&gt; œ /The integrating . . differential equals. # &gt;Î# to be written as , ie, Integration / C  / CÎ # œ $&gt; / Î # œ $&gt; / Î #Þ&gt;Î# w
&gt;Î # &gt;Î # &gt;Î # î €/ CÎ #&gt;Îw on both sides of the equation results in the overall solution AllC &gt; &gt; &gt; $&gt; '  - / Þa b &gt;Î# solutions for C &gt; a c &gt; œ $&gt; Þ!a b 10 .a b+ a b, C  !. In its case, the slopes are all positive, so that the corresponding solutions increase without any strings. Because, almost all solutions have negative slopes, and so solutionsC  ! usually decreases bound. b- Þ &gt;Both sides of the equation must be divided according to it. The resulting level is the factor integrating the standard form . The
differential formula can be.a b € €'&gt; œ /B: .&gt; œ Î&gt; &gt; , ie integration is the general C Î&gt; A CÎ&gt; œ &gt; / CÎ&gt; œ &gt; / Þw # &gt; &gt;a b solution A C &gt; œ &gt; /  - &gt; Þ !a b b &gt; , &gt; in the direction box. In this case, the specific solution is œ! C &gt; œ a &gt;/a b &gt; , which is obviously 0.0 &gt; p _ 11 .a b+ a b, Þ Solutions appear oscillating. www.ziie.ir 24. Article 2 shall —————————————————————————— —— be replaced by the following:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________Page 23 a b a b a b a b a b- Þ &gt; œ / C &gt; œ =38 #&gt; # - -9= #&gt;  - / ÞThe integrating factor and so. &gt; &gt; It is obvious that all
solutions are approaching solution C &gt; œ =38 #&gt; #!a b a b -9= #&gt;ab . 12a b+ Þ a b, . All solutions end up on positive slopes, and thus increase without strings. a b is b- Þ &gt; œ /The integrating factor . It could be the differential formula. #&gt;, i.e. both/ C  / CÎ= œ $&gt; Î# / CÎ# œ $&gt; Î#Þ&gt;Î# w &gt;Î # # &gt;Î# #w € the general solution to the equation itc &gt; œ $&gt; #&gt;  #%  - / Þa b # &gt;Î# follows that all converge solutions for that solution . C &gt; œ $&gt; #&gt;  #%!a b #14. The integrating factor is the . After
multiplying both sides , a. . a b is the b&gt; œ / &gt;#&gt; equation can be written as integrating both sides of the equation results € €/ C œ &gt; Þ2&gt; w in the general solution, citing the condition given, weC &gt; œ &gt; / Î#  - / Þa b # # &gt; &gt; require that . Therefore, and the solution of the initial value / Î #  - / œ ! - œ Î### ## problem C &gt; œ &gt; / Î # Þa b a b# ##&gt; 16. The integrating factor is the . Multiply both sides by :. .a b a b € €'&gt; œ /B: .&gt; œ &gt; &gt;# &gt; # the equation can be written as equationa b a b a b&gt; C œ
-9= &gt; Þ# w the result of a generic solution is C &gt; œ =38 &gt; Î&gt;  - &gt; Þ &gt; b a b # # # 1 equals zero . Therefore, the concrete solution- œ ! C &gt;a b œ =38 &gt; Î&gt; Þa b # 17. The integrating factor and the differential formula can be written:a b&gt; œ /##&gt; Integration, we get referring to the specified initial € ‧ a b / C œ Þ / C &gt; œ &gt;  - Þ 2 2&gt; &gt;w in the state of the solution C &gt; œ &gt;  # / Þa b b #&gt; 19. After writing the equation into standard orm0, you will find that it is an integrating factor. .a b a b €
‰'&gt; œ /B: .&gt; œ &gt; &gt;% &gt; % . The equation multiplied by both sides , the equation is €a€a b a b&gt; C œ &gt; / Þ &gt; C &gt; œ &gt;  /  - Þ% &gt; % % by &gt;w Integrating both sides results in the &gt; œ and zero values being set to therefore a-œ ! Þ a kezdeti érték probléma A C &gt; œ • &gt;  &gt; / Þa b €€,%% &gt; 21 .a b+ www.ziie.ir 25. —————————————————————————— —— 2.
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Az iránymezőből úgy tűnik, hogy a kezdeti feltétel kritikus értéke . For the case of + œ + +  case. solutions grow without any restrictions. The number of solutions decreases without strings.+  b, Þ The
integrating factor . The general solution of the differential.a b&gt; œ /# &gt; equation . The solution is sinusic until C &gt; œ )=38 &gt; ≥ %9= &gt; Î&amp;  - /a b a ba b a b &gt;Î# as . A-œ! the initial value of this sinuses solution + œ! a ba b a b)=38 ! ≥9= ! Î &amp; œ % %Î&amp; Þ a b a b- Þ , See section . 22a b+ Þ All solutions seem to increase initially without tying. Solutions increase or decrease depending on the initial value. The critical value seems to be + + œ Þ! a b, Þ the integrating factor, and the overall solution is differential.a b&gt;
œ /# î # &gt; equation referring to the initial condition, the C &gt; œ $ /  - / Þ C ! œ +a b a b&gt;Î$ &gt;Î# solution can also be expressed as differentiation, it follows that C &gt; œ * $ /  +  $ / Þa b a b&gt;Î$ &gt;Î# C ! œ  +  $ Î # œ +  Î# Þw a b a b B A B A critical value is obviously + * Þ! www.ziie.ir 26. Article 2 shall —————————————————————————— —— be replaced by the following:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
C &gt; œ # $ /  # / &gt;a b a b&gt;Î $ &gt;Î # , which is the great dominating of the term containing / Þ&gt;Î # is . C &gt; œ )=38 &gt; %9= &gt; Î&amp; - /a ba ba b a b &gt;Î# 23a b+ Þ As , the solutions grow without binding if , and the solutions decrease&gt; p ! C œ +  Þ%a b bound if C œ +  Þa b a b a b € ‰', &gt; œ /B: .&gt; œ &gt; / Þ. The integrating factor is the general solution a. &gt; &gt; &gt; differential formula . Referring to the specified value , we have C &gt; œ &gt; /  - / Î&gt; C œ +a b a ba &gt; a &gt; . Az. Therefore, the
solution can be expressed as  - œ + / - œ + / C &gt; œ &gt; /  + / / Î&gt;a b a ba &gt; a &gt; . For small values, the second expression is dominant.&gt; Setting , critical value+ / • œ œ + œ Î / Þ! b- +  Î/ +  Î/. In its case, the solutions grow without binding. In its case, the number of solutions decreases without a bound value. When , the solution + œ Î / C &gt; œ &gt; / ! &gt; p !a b a&gt; , which approaches 24 .a b+ A solutions without knitting if a and solutions decrease&gt; p ! C œ +  Þ%a b kötött, ha C œ +  Þ% Þa b www.ziie.ir 27.
—————————————————————————— —— 2. ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________&gt; &gt; &gt;_______________ Tekintettel a kezdeti állapotra, az oldat î# Î%1 1# Þ Mivel az oldatok kötöttség nélkül
növekednek, ha , és az oldatvékony &gt;Ä # ! -9 = &gt; œ +  %Î1 decrease without strings, if therefore the critical value is +  %Î Þ1# + œ %Î œ ! Þ%&amp;#)%(ÞÞÞÞ! 1# . a b a b a b- Þ + œ %Î C &gt; œ - -9= &gt; Î&gt; C &gt; œ Î#For , the solution , and . Therefore the1# &gt;Ä lim ! solution is limited. 25. The integrating factor is therefore the general solution.a b €&gt; œ /B: .&gt; œ / Þ # &gt;Î# C &gt; œ %9= &gt;  )=38 &gt; Î&amp; - / Þa b c da b a b Î #&gt; The initial state of the solution . Differentiating, it follows that C &gt; œ %9 =
&gt;  )=38 &gt; * * Î&amp;a b c da b &gt;Î# C &gt; œ ≥ %=38 &gt;  )-9= &gt;  %Þ&amp; / Î &amp; C &gt; œ %9= &gt; a ( 38 &gt; - #Þ#&amp; / W &gt; ww &gt; a b a b' a b a b a b ' The first solution is C &gt; œ ! &gt; œ Þ$'%$w a b first station. Whereas. TheC &gt;  !ww a b, the first stationary point in the local maximum coordinates of the point is .a bÞ$%$ ß Þ)#!)) He's 26 years old. The integrating factor and the differential formula.a b € €'&gt; œ/B: .&gt; œ /# $ &gt;/ Î$ Î$ can be written as the general solution: b a b / C œ / * &gt; /
Î # Þ C &gt; œ# Î $ # Î $ Î &gt; &gt; &gt; $Î $ ð &gt;  &gt;   &gt; # &gt; &gt; . To enforce the initial state, there is .a b a b Because the solution is smooth, the desired intersection becomes the point of contact. Considering the derivative, setting, the solution C &gt; œ is $Î% #C with #Î% / Î$ Þ C &gt; œ !w &gt; w a b a b a b! Î$ replaces the solution with the correct ta- &gt; œ 68 # (C Î * Þ ) ! $ # c da b value standing point . If you set this result to C &gt; œ  68 ° 68 (Ca b a b ) ! $ * * # % ) zero, we get the required initial value C œ # * * / Î)
œ Þ'%$Þ! %Î$ for b 27. The integrating factor and the differential formula can be written:a b&gt; œ /&gt;Î4 a b a b / C œ $ /  # / -9 = # &gt; Þ&gt; &gt; &gt;wÎ ÎÎ Î4 4 4 The general solution C &gt; œ #  )-9= #&gt;  '%=38 #&gt; Î'&amp; - / Þa b c da b a bÎ Î&gt; 4 Referring to the initial condition of the specific solutionC! œ !a b C &gt; œ #  )-9= #&gt;  '%=38 #&gt; ()) Î'amp_ Þa b a b a b 'Î&gt; 4 As , the exponential expression derelicts and the solution fluctuates around an amplitude of an average value of &gt; p _ with / 28
www.ziie.ir. —————————————————————————— —— 2. ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Az integráló tényező , és a differenciálegyenlet lehet írni.a b&gt; œ /#$ Î #&gt;, mint az általános megoldás: b a b/ C œ $&gt; /  # / Þ C &gt; œa # #&gt; % % Î $ - 
, î # &gt; &gt; &gt; &gt;w  - / Þ C &gt; œ # &gt; a %-os î  % % % % % %  î$ / þ$ &gt; &gt; &gt; A kezdeti feltétel előírása, a b a b A , az a d. kifejezés az oldat. A&gt; p _ / $ Î #&gt; dominate signal determines the properties of divergence. Therefore, the critical value of the initial condition C œ Þ! The correct solution will decrease without c &gt;, &gt; a &gt; bound * &gt; % Î $ % % % / a b . Note 31-3 _a &gt; &gt; &gt;  &gt; &gt;4. Difference. A&gt; p _ C &gt; œ C &gt;  1 &gt; +w w a b a b a b a b is constant, it follows that C &gt;  +C
&gt; œ C &gt;  +C &gt;  1 &gt;  &gt;  +1 &gt; þw w a b a b a b b Note: the hypothesis of function is fulfilled if . That is, ThereforeC &gt; C &gt;  +C &gt; œ! C &gt; œ - / Þ a b a b a b a ba b +&gt; C &gt; œ - /  1 &gt; C  +C œ 1 &gt;  +1 &gt; Þa b a b a ba b+&gt; w w w , which solves the equation For convenience, select .+ œ 31. Here, and we believe the linear equation is the integrating1 &gt; œ $C  C œ $Þa b w factor, and the differential equation can be written as The.a b b&gt; œ//C œ$/ Þ&gt; &gt;w general solution A
C &gt; œ $ - / Þa b &gt; 33. Consider the linear equation The Integror1 &gt; = &gt; Þ C  C œ  $ &gt; Þa b w factor, and the differential formula can be written as follows: .b a b a b&gt; œ / / C œ # &gt; / Þ&gt; &gt; &gt;w The general solution is C &gt; œ $ &gt;  - / Þa b &gt; 34. Consider the linear equation The integration1 &gt; = % &gt; Þ C  C œ % # &gt; a &gt; Þa b # w # factor , and the equation can be written as follows: .b a b a b&gt; œ / / C œ % # &gt; &gt; /&gt; &gt; # Þ &gt;þ is the general solution C &gt; œ % &gt;  - / Þa b
# &gt; www.ziie.ir 29. —————————————————————————— —— 2.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
C œ . B Þc da bB Î  B# $ Integrating both sides for the corresponding variables is C Î# œ 68  - Þ C B œ 68  - Þ # $k k k k  B  B$ $That, a B 3. The differential bothC . C œ ≥ =38 B . B The sides of the equation, in terms of the corresponding variables, are connected in the relationship , c œ -9= B  - Þ G - 9 = B C œ G, that is, in which an arbitrary constant.a Solution is the dependent variable, specifically, . C B œ Î G - 9 = Ba b a b 5. Enter the differential formula as follows : , or-9 = #C . C œ -9 = B . B =/- #C . C œ -9 = B . BÞ##
# # # Integrating both sides of the equation, with regard to the corresponding variables, we get the connection &gt; +8 #C œ = 38 B -9 = B  B  - Þ 7. The differential formula can be written as integratinga b  /. C œ B • / . B ÞC On both sides of the equation, for the corresponding variables, we get the C  # / œ B  # /  - Þ# C # B # 8 connection. Enter the differential formula to integrate the  the thea b# C œ B . B Þ# equation, we get the connection, ie, C  C Î $ œ B Î $  - $C  C œ B  GÞ $ $ 9 . The differential formula
can be separated, integrationa b is the b+ C.C œ #B . B ab, but it is a substitute for yields, and we find that C œ B A b  - Þ B œ! C œ Î ' - œ ' Þ' # Therefore, the concrete solution . The explicit form of isC œ B B is C B œ Î Þa b a bB A b*B a b, b a ba b- B * B ' œ B  # B $ Note that . Therefore, the solution will be B œ # # B œ $ Þand 10a b a b È+ Þ C B œ #B at #B  % Þ# www.ziie.ir 30. —————————————————————————— —— Article 2(2) shall be replaced by the following:
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
C The result of the equation is the initial state, weB / # œ # C Î #  - ÞB B # obtain Therefore- î# Þ C œ #/ #B / Þ# B The explicit form of the solution is C œ Þa b È#/ #B / C ! œ ÞB B A positive signal is chosen, as b is b, Þ a b- Þ B œ Þ( B œ ! Þ(' ÞThe radical function becomes close and negative 11 Enter the differential formula as integrating both sides of thea b+ Þ &lt; .&lt; œ . Þ## ) ) is the result of the relationship, which is the purchase of &lt; œ 68  - Þ &lt; œ #) a b .- î# Explicit form of the solution &lt; œ #Î # 68 Þa b) ) www.ziie.ir 31.
—————————————————————————— —— 2.
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Þ It is clear that the solution only makes sense if the solution becomes a separate number when, i.e., 68 î Î # œ / Þ) ) È 13a b a bè+ Þ C B œ # 68  B  % Þ# a b, Þ 14 . Enter the differential formula as integrating b a b+ C. C œ B B.B ÞööThe sides of the equation, in terms of the corresponding variables, we get the connection in the relationship , c î # œ  B  - Þ - ا # $ Î # Þ## È # Imposing the initial condition, We therefore get the specific solution can be expressed as TheC œ$ # #  B Þ ## È # explicit form positive for the solution
TheC B œ Î $ #  b Þa b É È # sign is selected to meet the initial condition. www.ziie.ir 32. —————————————————————————— —— 2.
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Azaz, 15a b a b È+ Þ C B œ Î#  B &amp;amp; Î% Þ# a b, Þ 16 .a b+ Rewrite differential formula A as follows: Integrate both%C . C œ B B
 . B Þ$ # on the b side of the equation as a result of imposing the initial condition, we getC œ Î %  - Þ% for bB  # - œ ! Þ %C œ ! Þ Therefore, the solution can be expressed in the bB form  # # % explicit from the solution The solution is selected on the basis of C œ Þ C*. œ Þa b a bÈa b Èb  Î # Î ## jel www.ziie.ir 33. —————————————————————————— —— 2.
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 17a b a b È+ Þ C B œ &amp; Î # B ,  $Î% Þ$ B a b, Þ a b- B  a Þ%amp; Þ% The solution is valid for this value with %B % / %/ root root by estimating  $œ! B Article 18 Enter the
differential formula as integrating a (b a b a) $ %C. C œ / • / . B ÞB B on the side of the equation, with regard to the corresponding variables, we get the connection $C  #C œ # /  /  - Þ C ! œ # B a b a bAbA initial state, the initial state that we get - œ (Þ $C  #C œ # /  /  (ÞSo the solution now b a b a b with b expresses the square on the left, # C  $ Î% œa b # /  /  &amp; Î)bB a b * B . Therefore, the express form of the solution is C œ ≥ $Î%  &amp;amp; Î, -9=2 B Þa b È www.ziie.ir 34.
—————————————————————————— —— 2.
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
B  #Þ Þ. Note a , as long as the solution is valid for the interval .# #Þ  B  #Þ 19a b + Þ C œ * Î $  = 38 $ -9= B Þa b a b1 $ # a b, Þ 20a b + Þ Rewrite the differential balance integróc . C œ +&lt;-=38 BI ( B . B Þ# #È both sides of the equation are C Î$œ +&lt;-=38 B Î#  - Þ$ a b # C ! œ! It's him! Þa b , we get formA solutionexplicit C B œ Þa b a $#+&lt;-=38 B #Î $www.ziie.ir 35. —————————————————————————— —— 2.
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
is b-Ÿ B Þ. It is clear that the definition of the solution is 22. The differential formula can be written as integrating b$C %. C œ $B . B Þ# # on the side, the specification of the original condition, the specific solution C % %C œ B  - Þ$ refers to the differential formula, you will find that asC % C œ B Þ C p _$ w C p #Î $ ÞÞÞ&amp;þ&amp;þþThe correct values for abscissas , Therefore, the solution applies to Þ#(  b  Enter the differential balance integrated on both sides,a b a b $  #C . C œ # # / . B ÞB based on the specified baseline
state, the solution can be written$C  C œ #B /  - Þ# B as follows, it follows that $C  C œ #B /  Þ# B A C = * Î #  #B /  $Î% Þ #B /  $Î% !a b È B The solution is determined when, that is, during this period, because this Þ &amp; Ÿ B Ÿ # C œ ! B œ 68 # Þa bapproximately w be checked for that . In fact, in the resolution interval. That's whyC 68 #! C B  !ww ww a b a b a b a solution reaches the global maximum B œ 68 # Þ 26. The integration of the differential  can be written as c # (C). C œ #  B . B Þa b on both sides
of the equation, we get imposition of the given &lt;-&gt; +8C œ #B  B  - Þ # initial state, the special solution is therefore,+&lt;-&gt;+8C œ #B  B Þ C B œ &gt;+8 Þ# a b#B  B# Notice, that the solution is determined until light  #B  B  Î# Þ1 1# see that addition, and from this#B  B Þ #B  B Î # B œ * #Þ Þ' Þ# # 1 the solution applies to the interval Referencing back the difference between the difference between the #Þ  B  ! Þ' Þ www.ziie.ir 36. —————————————————————————— —— 2.
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________Az solution Þ C B  !ww a b a b a b a b a b a b a b is linked to the total interval at the point of determination b, at 28 b þ 28. Enter the differential formula Integration b a b a b+ C % C . C œ &gt;  &gt; .&gt;Þ , taking68 C ° 68 C % œ %&gt; � %68 
&gt;  - Þk k k k k k k k k k on both sides, it follows that the following:exponential k a ba bCÎ C % œ G / Î  &gt; Þ%&gt; %, as , . I.e. &gt; p _ CÎ C % œ  %Î C % % P % C &gt; p % Þk k k k a ba b a b, Þ C ! œ # G œ Setting , we get that . Based on the starting state, the solution can be expressed according to the Note that allCÎ C % œ / Î  &gt; Þ C %  !a b a b%&gt; % &gt; ! Þ C % &gt;! ÞIt is therefore all referring back to the differential formula, it follows that it is always . This means that the solution . We find Cw positive
monotonous increases that the root of the equation is close / Î  &gt; œ $** &gt; œ #Þ)%% Þ%&gt; a b% a b a b- Þ C &gt; œ %Note: equilibrium solution. Looking at the local field of direction , we see that if , then the appropriate solutions converge . ReferringC!  ! C œ %a b back to part , Settinga b a b c d a ba b+ CÎ C % œ C Î C % / Î  &gt; C Á % Þ! ! ! %%&gt; &gt; œ # C Î C % % œ $Î/ C # Î C # % Þ, we are now m ripening since the feature! !a b a b a b a ba b# % 0 C œ CÎ % C % C  %a b a b a, and only smonotone C Î C ° œ C °
- # #% a b a b * $** $Î/ %! $Î/a b the band The right solutions and œC $Þ''## C œ %Þ%!%# Þ! ! 30a b0 Þ www.ziie.ir 37. —————————————————————————— —— 2. ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Figyeljük meg, hogy ezért a
differenciálegyenleta b a b € €+ B  $C Î #BC œ  Þ# # # # * B # B C C a .homogén a b a b, C œ B @ @  B @ œ B  $B @ Î #B @. The result of the substitution is the . Thew # # # transformed equation into this equation, the general@ œ  @ Î # B@ Þw # a b separable solution in terms of the original dependent variable, the solution is@  œ - B Þ # B #  C œ - B Þ # a b- Þ 33a b- Þ www.ziie.ir 38. —————————————————————————— —— 2.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________oldal 37 34 Note that b is therefore a b  + Þ %B  $C ÎÐ#B  CÑ œ #  ÞA C B B differential formula . homogeneous a b a b, C œ B @ @  B @ œ # @Î #  #. The result of the substitution is the . The converter equation This equation, general@ œ @ 
&amp;@  % ÎÐ #  @ÑB Þw # a b separable solution The original dependent variable in terms of solutiona b k k@% @ œ GÎB Þ# $a b k% B  C BC œ GÞ# a b- Þ 35 .a b-36 Divide, to see, that the equation is homogeneous. The following substitution: wea b+ Þ B C œ B @# obtain The resulting differential formula can be separated. B @ œ  @ Þw # a b a b a b, Þ  @ .@ œ B . B ÞThe equation is written as an integral part of both sides of the equation, the general solution is calculated using the original  @ œ 68 B  -
Þa b k k depending on the variable C œ B 68 B Þc dk k , www.ziie.ir 39. —————————————————————————— —— 2. 38 in b- Þ 37. Therefore, thea b €‰+ Þ C œ $ # B # B C Cereat is homogeneous. The result of the substitution is the . C œ B @ B @ œ @ @ @ î #@w # a b Separator variables, is #@ @ B # .@ œ . B Þ a b, Þ Integration of both sides of the converted equation &amp; 68 œ 68 B  k (k k k) kk , i.e. general &amp; œ GÎ B Þ # &amp; k k solution &amp;c œ B GÎ B Þ# # k a b- Þ 38 The differential
formula can be expressed . Therefore, the thea b €‧+ Þ C œ $w $B #B C C equation is homogeneous. Substitution results in C œ B @ B @ œ @ Î #@w # a b, #@ @ @ B # .@ œ. B Þ a b k k, Þ 68 œ 68 B  -Az átalakított egyenlethozamok mindkét oldalának integrálása, k k@ # azaz az eredeti függő változót tekintve az általános solution@ œ G B Þ# k k C œ G B B  B Þ# # # k k www.ziie.ir 40. —————————————————————————— —— 2.
___www.ziie.ir________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ —————————————————————————— —— 2.
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Legyen annyi só a tartályban. Salt enters the tank of water at a rate of b + U #  = 38 &gt; œ  = 38 &gt; Þ # UÎ ! Þ % # # % € ‧ Leaves the tank 9DÎ738 9DÎ738 Therefore, the differential formula that controls the amount of salt at
any time . U. &gt; # % œ  =38 &gt; * UÎ&amp;* Þ The initial amount of salt is the governing ODE isU œ &amp;! 9D Þ! linear, integrating factor Enter the equation as The.a € € € &gt; œ / Þ / U œ / Þ&gt;Î &amp;amp; &gt;And that's not my! &gt;Î&amp;_w # % =38 &gt; specific solution is U &gt; œ #&amp;  #Þ&amp;&amp;s=38 &gt; &gt;  '$&amp; / Î #&amp;amp;amp; 9D Þa b  &gt;Î&amp;amp;! a b, Þ a b- Þ The amount of salt is close to the oscillation of the amplitude state of Î% #&amp;9D Þ at about 6 levels . The equation governing
the value of the investment is . The value of b+. WÎ.&gt; œ &lt; W the investment at any time in the setup , the requiredW &gt; œ W / Þ W X œ #Wa b a b! ! &lt;&gt; time X œ 68 # Î&lt; Þa b a b, Þ &lt; œ (œ Þ!( *Þ* C&lt;= ÞIn the case, % a b- Þ + &lt; œ 68 # ÎX X œ )The required interest rate is approximately &lt; œ )Þ' Þ% Þ% 8 . contributions are made by person A &gt; &gt; œ #&amp;ß !!! / Þa b a b&lt;&gt; ten W œ #&amp;ß !!! Þ ##' œ $!ß '%! Þ &amp;$; E $ $a b Initially age, investments can now analyze the equations and W œ $!ß '%! / W
œ #&amp;ß !!! / ÞE F Þ!) &gt; a b Évek után, az egyenlegek ésharminc $ $W œ $$(ß ($% W œ #&amp;amp;! ß &amp;(*ÞE F a b, Þ &lt; w= œ= $!ß= '%!= or= an= rate= ,= the= balances= after= years= are= andunspecified= thirty= e=&gt; &lt; w= œ= #&amp;ß= !!! = = = þf= a=&gt; &lt; www.ziie.ir= 42.= ——————————————————————————= ——chapter= 2.= ________________________________________________________________________= page= 41= a= b-= .= a= b.= þ= the= two= balances= can= be=
equal.never= 11= .= let= be= the= value= of= the= mortgage.= the= debt= accumulates= at= a= rate= of= ,= ina= b+= w=&gt; &lt;W which= is= the= interest= rate.= monthly= payments= of= are= equivalent=&gt;&lt;/W&gt; &lt; œ= þ!*= )!! annual= $= $= per= year= the= differential= equation= governing= the= value= of= the= mortgage= is*ß= '!! = þ= .wî.=&gt; œ Þ!* W * *ß '!! Þ WGiven, hogy az eredeti összeg kölcsönzött, az adósság! W &gt; œ W / ! ß'( / Þ W $! œ !a b a b a b! Þ!*&gt; Þ!*&gt; beállítás , ebből következik, hogy w œ **ß
&amp;!!! $ . egy b, Þ $! #))ß !!! A fizetés, az évek során, lesz . A fizetett kamat ezenösszesen $ vásárlás .$ ))ß &amp;* 13 . A mérleg a b+ &lt; w= 5increases= $/yr= decreases= $= per= year.= hence= the= balance= is= modeled= by= the= differential= equation= .. wî.=&gt; œ œ œ œ &lt;W = 5= the= balance= at= any= time= is= given= by= w=&gt;W / # / Þa b a b! &lt;&gt; &lt;&gt; 5 &lt; a= b= a= b,= w=&gt; œ ÐW a  Þ. Az oldat is kifejezhető, mint Vegye figyelembe, hogy ha a! 5 5 &lt;&gt; &lt;&gt; &lt;&gt; kivonási arány , az egyenleg
marad állandó szinten5 œ &lt; w= w= þ!= != != a= b= a= b= ’= “-= 5= = 5= w= x= œ= != x= œ= 68= þ.= assuming= that= ,= for!= != != = 5=&gt; &lt; 55!= a= b.=&gt; &lt; œ= þ!) = 5= œ= #5= x= œ= )þ''.= if= and= ,= then!= != years= .= a= b= a= b= a= b/= w=&gt; œ ! / , / œ Þ &gt; œ X. Beállítás és megoldás a részben , Most beállítás &lt;&gt; &lt;&gt; 5 5 # &lt;W! results= in= 5= œ=&gt;&lt;/W!&gt; &lt;W î= = = þ!= x=&gt;&lt;/W&gt; &lt;&gt; &lt; a= b= a= b= a= b0= þ= 5= œ= #ß= !!! =&gt; &lt; œ= þ!) = x= œ= #!in= part= ,= let= ,= ,= and= .=
the= required= investment= becomes= .w= œ= *ß= (&amp;!= $= 14= let= the= general= solution= is= based= on= thea= b= a= b+= þ= u= œ= =&gt; &lt; u= þ= u=&gt; œ U / Þw # &lt;&gt; # * meghatározása , úgy az egyenlet Következik, hogyafelezés i ! &amp;0;$!# &lt; www.ziie.ir= 43.= ——————————————————————————= ——chapter= 2.= ________________________________________________________________________= page= 42= = &amp;($!=&gt; &lt; œ= 68ðî#ñ=&gt; &lt; œ= þ#!*(= ‚= !,= that= is,=
%= per= year.= a= b= a= b,= u=&gt; œ U / Þ. Ezért a szén-14 mennyiségét a ! Þ#!*('! &gt;a b a b- Þ U X œ U Î&amp; Î&amp; œ / ÞGiven that, megvan az egyenlet megoldása! Þ#!*('! Xa% a , a látszólagos kora a továbbra is körülbelülbomlási idő év . X œ $ß $!%Þ'&amp; 15. Legyen a szúnyogok populációja bármikor . Az arány a tt &gt; &gt;a b növeli szúnyogpopuláció A lakosság . Ezért #!ß= !!! decreases= per= day= equation= that= models= the= population= is= given= by= .= note= that= the.tî.=&gt; œ &lt;T  #!ß !!! = #!ß= !!!
=&gt;&lt;/T  #!ß !!! &gt; &lt;/TÞ&gt; &lt;/W&gt; &lt;/W&gt; Represents. The solution is a &gt; T &gt; œ T / a Þdays a b a b! &lt;&gt; &lt;&gt; #!ß!!! &lt; absence= of= predators,= the= governing= equation= is= ,= with= solution.t= î.=&gt;œ &lt;T = t=&gt;Œ T / Þ T ( œ #T #T œ T / Þ ! ! ! a b a b &lt;&gt; ( œ # ' &lt; based= on= the= data,= set= ,= that= is,= the= growth= rate= is= determined= as= therefore= the=&gt; &lt; œ= 68= #= î(= œ= þ!**!#= þa= b= per= day= including= the= by= birds,= ispredation= t=&gt; ! /  #! ß **( / œa b a
b&amp;Þ!**&gt; Þ!**&gt; œ #! ß **(Þ$ *((Þ$ / ÞÞ!**&gt; 16 . Isa b a b c d+ C &gt; œ /B: #Î!  &gt;! The #-9=Ð&gt;ÑÎ! #Þ*'$# 7-a-b a b a b, Þ . CÎ.&gt; œCÎ! C &gt; œ C! The differential formula is with The&gt;Î solution. the doubling time is 7 œ !68 ' Þ*$/ Þa b a b- . CÎ.&gt; œ! Þ&amp;  =38Ð# &gt;Ñ CÎ&amp; Þ. Consider the differential equation The equation1 can be separated, integrating both sides, C &amp;. C œ! Þ  =38Ð# &gt;Ñ .&gt; Þ € 1 corresponding variable by initials68 C &gt; - -9=Ð# &gt;Ñ Î!  - Þa b111 condition, the solution
is C &gt; œ /B:  &gt; - -9=Ð# &gt;Ñ Î! Þa b c da b1 1 double-time 7 ' Þ$!! %, The value in part A is .doubling-time a b a b... 17 . The differential formula is done by integrating factor b a b+. CÎ.&gt; œ &lt;&gt; C • 5 linear . . . a b a b a b a b ''&gt; œ /B: &lt;&gt; .&gt; Þ C œ Þ 5 &gt; Þ Enter the equation as an integration of the two www.ziie.ir 44. —————————————————————————— ——2
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
 C! Î &gt; a b a b a b. 7 7 . .! the integrating factor is .a b c da b&gt; œ /B: -9 = &gt; &gt; Î&amp; Þ a b, Þ C &gt; œ ! &gt; œ &gt;The population will be if , some . Referring to extinct ‡ ‡ part , the b + we find that the C &gt; œ ! Êa b‡ ( c da b ! &gt; Î&amp; ‡ /B: -9 = Î&amp;œ &amp; C Þ7 7 7 It can be shown that the left integral increases to an estimated limit of approximately 100 % from monotonous zero . Therefore, an extinction may occur&amp;; Þ!) *$ only if &amp; &amp; C  &amp;amp; Þ!) *$C ! Þ)$$$ÞÎ&amp; - - i.e. b a b a b- , C
&gt; œ! Ê. In part, it follows that ‡ ( c da b ! &gt; Î&gt; - ‡ /B: -9 = Î&amp;œ / C Þ 5 7 7 7 Thus extinction can occur, i.e. only if / C Î5  &amp;amp; Þ!) *$ C  %Þ'' ( 5 ÞÎ&amp; - b.C 5. Obviously, the function of the parameter .- linear 19 . Let's have carbon monoxide in the room. The ratio of b to b + U &gt; increase the volume of CO CO leaves the roomis the amount of the ratio ofa ba bÞ!% ! That's what you can't do. That's it, that's it! % 0&gt; Î738 Þ$ a b a b a b! Þ U &gt; Î#!! œ U &gt; Î#!!! 0&gt; Î738 Þ Therefore, the total change rate$ is
given by the differential formula. U.&gt; œ! That's it, that's it! % % U &gt; Î#!!! &lt;/T&gt;b linear, with response Comment:U &gt; œ %) /B): &gt;Î#!!! U œ !a b a b 0&gt; Þ 0&gt; Þ$ ! Therefore, the concentration %B (%B) should be set to &gt; œ U &gt; Î#!! œ U &gt; Î#a b a b a b a b, B &gt; œ % %/B: &gt;Î#!!!. The room has a level concentration of CO %Þ corresponds . Setup , the solution to the equation! !!! # ! That's it, that's it! # B œ! That's it, that's it! #% is b7 % %/B: &gt;Î#!!! œ! That's it, that's it! # A b az .7 perc www.ziie.ir 45.
—————————————————————————— —— 2. ______________________________________________________________________________________________________________________________________________________________________________________________________________________ oldal 44 20 A koncentráció könnyen látható b a b a b + Þ - &gt; œ 5  &lt; = -= = 5= =&gt; &lt; þ!=&gt; &lt;&gt; ÎZ, hogy - &gt;p_ œ 5  Œ &lt; þa= b= a= b= a= b,= þ= -=&gt; œ - / X œ 68Ð #ÑZ &lt;
x= œ= 68ð!ñz=&gt; &lt;Þ. the= are= and!= &amp;!= !=&gt;&lt;/Þ.&gt; &lt;&gt; ÎÎ ÎZ csökkentési idő a b a ba b- Þ X œ 68 ! #ß! œ %$! Þ)&amp;2 A , a , the reduction times year W X œ 68 ! &amp;) Î%ß *!! œ (Þ% à X œ 68 ! (&amp;Î%'! œ 'Þ!&amp;Q Ia ba b a ba b X œ 68 ! #!* Î'ß !!! œ (Þ'$ ÞS a ba b 21a b- Þ 22 . The differential balance of motion is B+ 7 .@Î.&gt; œ the @Î$! The solution is .@ ! œ #! @ &gt; œ a %%Þ  %Þ /B: # &gt;Þ%Þ&amp;a b a bm/s Setting , the ball reaches the maximum height . Integrating@ &gt; œ! &gt; œ Þ)$a b sec
@ &gt; B &gt; œ $)Þ%amp %%þ %%Þ &gt; #))Þ%amp:*: &gt;Þ%Þ&amp;Þa b a b b, position is therefore set to .maximum height mB &gt; œ %&amp;þ()a b b, Þ B &gt; œ ! &gt; œ &amp;œ; Þ#)Setting , the ball reaches the ground .# # sec a b- Þ 23 The differential equals the movement, the b + Þ 7 .@Î,&gt; œ @ @ 71 upwards . # in which . This is the integration of the equation. œ Î$#&amp;.@ œ # .&gt; Þseparable 7 @ 71. # www.ziie.ir 46. —————————————————————————— —— 2.
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________Setting@ &gt; œ %%Þ$$$&gt;+8 Þ%#&amp; Þ### &gt; Þa b a b @ &gt; œ! &gt; œ Þ * @ &gt;a b a b , the ball reaches maximum height . Integrating , thesec position provided by Therefore aB &gt; œ *)Þ(&amp; 68 -9= !
&gt;! Þ%#&amp;  %)Þ&amp;( Þa b c da b maximum height is as follows. B &gt; œ %)Þ&amp;amp;' a b a b, Þ 7 .@Î.&gt; œ  @ 71 ÞA motion differential is down . # This equation can be separated, comfort, set 7 71 @ # .@ œ # .&gt; Þ &gt; œ ! the trajectory. The new initial state will be . Integrating bothtop @ ! œ !a b side and referring to the initial condition, we get 68%%Þ # @ Î%%Þ$  @ &gt;Î #Þ#&c da b a b Þ solving the speed, integrating , the@ &gt; œ %%þ / î  / Þ @ &gt;a b a b a b&gt; &gt;&gt; &gt; #Þ #&amp; #Þ # position
estimate estimate estimate&gt; œ ** 68 / Î  /  )'Þ# Þa b a b' &gt; &gt; #Î#Þ#&amp;Î#Þ#&amp; duration of the downward movement , resulting in . Therefore, B &gt; œ! &gt; œ $Þ#('a b# # total time sec to keep the ball in the air .&gt;  &gt; œ &amp;#1#1 # a b- Þ 24 Measure the positive direction of movement. Newton'sa b+ Þ #downward nd according to the law of the motion formula 7 œ Þ .@ .&gt; ! Þ(@ @ @  71 !  &gt;    ! In the first ten seconds of the positive resistance, the fall, the initial value problem , the initial.@Î.&gt;
œ @Î (Þ &amp;  $# speed This differential formula can be separated and linear, solution@ ! œ ! Þa b fps @ &gt; œ #%!  / @ ! œ ('Þ( Þa b a b a b &gt;(Þ&amp; . Therefore, fps a b a b, B &gt; œ !. Integrating the speed, the , the distance is reduced given by B &gt; œ #%! &gt;  )!! /  )!! a b a &gt;Î(Þ&amp; . So. B! œ ! (%Þ&amp;a b ft. www.ziie.ir 47. —————————————————————————— ——SET 2.
____&gt;___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Reset time for calculation purposes . For the rest of the movement, the initial value problem is velocity.@Î.&gt; œ the $#@Î&amp; $# @ ! œ ('Þ( Þ@ &gt; œ &amp;  Þ / Þ &gt; p _a b a bA solution: As, fps €$$ &gt;&amp; @ &gt; p @ œ &amp; Þ B ! œ ! (%Þ&amp;a b is the integration of bP A speed, distance after opening the parachute to B &gt; œ &amp; &gt; (&amp;amp; Þ) /  &amp;! Þ$ Þa b $$# &gt;Î duration of the second part of the movement, estimate the root of the transcendental equation &amp; X (&amp;amp; Þ) / 
&amp;&amp;! Þ$œ &amp;!!! Þ X œ #&amp;amp;' Þ' Þ##XÎ&amp; The result is *a b. Þ 25 . Measure the positive direction of movement . The motion equation b+ moves upwards, which is used in the . The initial value 7.@Î,&gt; œ 5 @ 71 .@Î, &gt; 5@Î7 1 . The solution is Setting@! œ @ @ &gt; œ @ 71Î5  @  71Î5 / Þa b a b a b! ! 5&gt;Î7 @ &gt; œ ! &gt; œ 7Î5 68 71  5 @ Î71 Þa b a b c da b7 7, the maximum height will be reached in time! By integrating the speed, the body position is B &gt; œ * 71 &gt;Î5  1  ð / ÑÞ 7 7 @ 5 5 a
b •Š # # 5&gt;Î7! Therefore, the maximum anam is B œ B &gt; œ • 1 68 Þ 7 @ 7 711  5 @ 5 5 71 7 7 ! a b Š ‹ • # a b a b, Þ ¥68  œ a    aRemems that ,$$$$$$$$$$$$26.a b a b, œ 5 @  71/œ 1&gt; Þlim lim 5Ä! 5Ä! 71 5 @ 71 / 5 7 &gt; 5&gt;Î7a b! •5&gt;Î7 ! a b  '€ €- Þ   @ / œ ! / œ ! Þ, sincelim lim 7 Ä! 7 Ä! 71 71 5 5 5&gt;7 ×5&gt;Î7 ! 28 . As far as displacement is concerned, the differential formula is b+ 7@ .@Î.B œ • 5 @  71 Þ This follows: . differential formula ischain rule .@ .@ . B .@ .&gt; . B .&gt; .&gt;œ
œ @ can be separated, www.ziie.ir 48. —————————————————————————— —— 2.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________Page____
page 47 B @ œ • 68 Þ 7@ 7 1 711 - 5 @ 5 5 71 a b º º º # # The inverse as both and monotonous increases. As for the specified B @ parameters, B @ œ Þ#&amp; @ @ &amp; Þ$ 68 ! Þ!) @ Þa b k k a b a b, Þ B ! œ $Þ%&amp;5 œ! Þ#%. The required value is .meters a b a b- Þ + @ œ ! B œ ! In part , set and .m / s meters 29 Let them represent the height above the earth's surface. The movement equation is b+ Þ B, in which the universal gravitational constant. The symbol 7 œ - K K.@ Q7 .&gt; VBa b# and is a symbol of earth and
earth. According to the chain rule, the mass radius of Q V is 7@ œ • K .@ Q7 . B V  Ba b# . This equation can be separated by integrating both sides,@ œ KQ V  B . B Þa b## and referring to the initial condition, the solution is@! œ #1V @ œ #KQ V  B a b a bÈ # A *  #1V #KQÎV Þ 1 œ KQÎVIt follows from elementary physics that . Therefore# @ B œ #1 VÎ V  B Þa b a bÈ ' È Note that we/ hr .1 œ ()ß &amp;%amp; # a b È ' È, Þ . BÎ.&gt; œ #1 VÎ V  BNow so . This equation can also be separated, with the variable defined as
the initial condition: ÈV  B . B œ #1 V.&gt; Þ B B! œ! Þ B &gt; œ #1 V &gt;  V Þa b a b  '€ €ÈIntegration on both sides, we get $ # # $ $ $ × × #Î$ Setting the distance and solving the duration of such aB X  V œ #%!ß !!! Xa b flight would be X % * hours . 32 Both equations are linear and separable. The initial conditions area b a b + Þ @ ! Is it him? -9 = E and . The two solutions andA ! Is it him? =38 E @ &gt; œ? -9 = E / A &gt; œ × 1Î&lt; a b a ba &lt;&gt;  ? =38 E  1Î&lt; / Þa b ≥&lt;&gt; www.ziie.ir 49.
—————————————————————————— ——2.
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________Þ
+Integrated into the solutions section and referring to the initial conditions, coordinates and B &gt; œ -9 = E # / a b a b? &lt; &lt;&gt; a &gt; 1&gt;Î&lt;  1  &lt;  &lt;  2&lt; Î&lt; =38 E  1Î&lt; / Þ ? &lt; a b € ‧ Š ‹# # &lt;&gt; a b- Þ a b. Þ X $&amp;* Let the time to consider the ball to go horizontally. Then from above, ft/ œ ? -9 = E ( Î? -9 = E Þ≥XÎ&amp; a b At the same time, the height of the ball is determined by c x œ! X  #'(  #&amp;?? =38 E Ð)!!  &amp;? =38 eń? -9 = E ( Î? -9 = E Þa b c da b Therefore, must meet your
inequality? )!! 68  #'(  #&amp;? =38 E Ð)!!  &amp;? =38 eń? -9 = E ( - - 9 = E ' • c da b 33 Solution equation , . The answer: b a b a b c da Þ 3 C B œ 5 ° C ÎCw # Î# positive selected as a function. Increase C Ba b, C œ 5 =38 &gt; . C œ #5 =38 &gt; -9= &gt; .&gt; Þ. Let . Then, in the # # section, you find that b + #5 =38 &gt; -9 = &gt; .&gt; -9 = &gt; . B =38 &gt; œ Þ # #5 =38 &gt; .&gt; œ . B Þ# # a b- Þ œ #&gt; 5 =38 . œ . B ÞLetting , further obtain integration on both sides) )# ) equation and noting that it meets the , we get the
solutions&gt; œ !) b œ 5 = =38 × , C œ 5 - 9 = Î# Þa b a b c a b a b a ba) ) ) ) ) ) ) # and b a b a b.b. CÎB œ -9 = Î = =38 Þ C œ #. Note that the setting , the solution) ) ) is the equation . Replacement a b a b - -9= Î = 38 œ # Þ%!) ) ) ) ) ) kifejezések hozamok 5 #Þ * * Þ www.ziie.ir 50. —————————————————————————— —— 2.
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Figyelembe véve a vezető kifejezés együtthatójának gyökereit, az ODE egyedi megoldásokkal rendelkezik olyan intervallumokon, amelyek nem tartalmaznak vagy . Since, the initial value problem! % # − ! ß %a b has a unique solution
for a b! ß % Þ 3. The function is not continuous in its area. Since a&gt; +8 &gt;  uneparated multiples of 1 1 1 # # # $ 1 initial value problem is a unique solution to the interval € 1 # # # ß Þ 5. And. These features are not continuous: &gt; œ #&gt;Î 1 &gt; œ $&gt; Îa b a ba b a% &gt; % &gt; # # # B œ # # # ß # Þ. The initial value problem is a unique solution to the interval of b 6. The function is defined and is continuously in the interval . Therefore, a68 &gt;! ß _a b initial value problem is a unique solution to the interval .a b! ß _ 7. The
function is continuous everywhere on the plane, along 0 &gt; ß Ca b, except for the line The partial derivative c œ # &gt;Î&amp; Þ '0Î'C œ a ( &gt;Î #&gt;  &amp;ca b# is the same continuity region. 9. The function is not continuous along the coordinate axes, and hyperbola0 &gt; ß Ca b &gt; a c œ # # . Furthermore, 0 C 68 &gt;C 'C C - &gt;  C œ # &gt;  Ca b k k has the b # # # a interrupt points.same 10. continuous everywhere on the machine. The partial derivative is0 &gt; ß ß C '0Î'Ca b continuous everywhere. 12. The function is not
continuous along the lines and . A0 &gt; ß ß C &gt; œ 5 C œ has a partial derivative continuity area b 1.'0Î'C -9&gt; &gt; Î  Ca b a b# same 14. The equation can be separated by integrating the solution on both sides. CÎC œ #&gt; .&gt; Þ# in For, solutions exist until . C &gt; œ C ÎÐ ( C &gt;  ! &gt;  ÎCa b ! ! ! ! ! # # A , solutions are defined . C Ÿ! &gt;! both the 15th and 16th The equation can be separated by integrating both sides and inviting. CÎC œ is .&gt; Þ$ the initial condition, solutions exist until , C &gt; œ C #C &gt;  Þ #C &gt; 
 !a b È! ! ! Az. If there are solutions for it. If , the #C &gt;  C  ! &gt;  Î#C C œ!! ! ! ! solution exists for all . If there are solutions for it. C &gt; œ! &gt; C ! &gt;  Î#Ca b ! ! 16. The function is not continuous along straight lines, and 0.0 &gt; ß C &gt; œ the C œ !a partial derivative is not continuous along the same lines. Az egyenlet'0Î'C www.ziie.ir 51. —————————————————————————— —— 2.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ C œ &gt; .&gt;Î Þ# a b  &gt;$ megoldás megoldások léteznek, amíg aC &gt; œ 68  &gt;  C Þa b k k ## $ $ # # Î # # 68  &gt;  C !! ! !  &gt; ! # $# $k k solution, although
the Item does not guarantee the solutions exist until #Þ%Þ# Ñ k a b  &gt; /B: $C Î # Þ &gt;  # # From above, you must . Therefore, inequality can be written as follows: solutions are valid&gt; /B: $C Î # Þ$ # a b! c da b/B: $C Î#  &gt;  _. Î$# . 17. 18. Based on the field of direction and the differential formula,  ! eventually become negative, and so solutions in general . In the case of solutions, C !! without strings, if otherwise the slopes become negative and &gt;  ! That's it, that's it! finally solutions in general . Furthermore, a .
Remember that slopeszero equilibrium solutionC œ !! along the curves and .zero C œ! &gt;C œ $19. www.ziie.ir 52. —————————————————————————— —— Article 2(2) shall be replaced by the following:
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
&gt;&gt;_____________________ zero Solutions for hyperbole eventually tend to be over or under &gt;C œ $_______________________________________________________________________________________________________________________________________________________________________ Also, one.! equilibrium solution 20. Solutions are all prone . Solutions with initial conditions for &gt;  ! The parabola &gt; ß C! ! a b a parabola on the right side of the parabola a . Integral&gt; œ  C &gt; p _# curves with
initial conditions for parabola and curve approach.above the bC  !! The slopes of the solutions with initial conditions are under the parabola, and  bC! Negative. These solutions are usually used in the þ _ Þ 21. Enter the , in which the Heaviside step function. C &gt; œ &gt; - ? &gt;  - ? &gt;- $Î# a b a b a b# $ Note: andC - œ C ! œ! C -  $Î# œ Þ- - #Î$ a b a b a b € ‰ a b a b+ Þ - œ $Î # ÞLet #Î$ a b a b, Þ - œ # $ $ Î # ÞLet #Î$ a b a b a b a b a b- Þ C # œ # C &gt;  # #  -  # C # œ! Notice that the and that! I'm not going to #Þ. C
# − #ß # ÞSo any , its b c d 26 Reminding Eq. szakasz, a b a b + Þ $&amp; #Þ www.ziie.ir 53. —————————————————————————— —— 2. ________________________________________________________________________________________________________________________________________________________________________________________________________________&gt; &gt; ________________________________________________________________ a b a b ( a b a b
Nyilvánvaló, hogy és . C &gt; œ C &gt; œ = 1 = .= #a b a b a b a b' &gt; &gt;. . a b a b . a b a b a b a b €, œ /B: &gt; .&gt; C œ : &gt; œ : &gt; C Þ. By definition, . That's why &gt; &gt; w . . . a b a b Ie C : &gt; C œ! Þ w a b a b b a b a b a b a bŠ ‹ Š ‹'- Þ œ C : : &gt; = 1 = .=  &gt; 1 &gt; œ : &gt; C  1 &gt; Þ# # w &gt; &gt; &gt; . . a b a b. . That is, C : &gt; C œ 1 &gt; Þ# # w a b a b 30. As of , you . It follows that and 8 œ $œ œ C œ the #C œ the # &gt; &gt; &gt; #C.C C$ Substitution into the yields of the differential formula, which leads
further to the C œ CC # .&gt; .@$ &amp; $5 results in the latter differential formula, and as@  # œ # Þw &amp; 5 a b a b/ œ # Þ @ &gt; œ # &gt; &gt; -/  þ -/ þ # &gt; # &gt; # &gt;w&amp; &amp; 5A solution to return to the original dependent variable, C œ * Þ Since the , set . It follows that and 8 œ $ @ œ C œ the #C œ the # # &gt; &gt; &gt; &gt; # C.C C$ The differential formula is written as follows: - -9 = &gt;  X C œ CC # .&gt; .@$ a b&gt; $5 additional substitution: This ODE is linear, integrating@  # -9 = &gt;  X @ œ #Þw a
b&gt; factor A solution. &gt; &gt;a b a b € €'&gt; œ /B: # -9= &gt;  X .&gt; œ /B: # = =38 &gt;  #X&gt; Þ @ &gt; œ #/B: # =38 &gt; #X&gt; /B: # = 38  #X .  - /B: # = 38 &gt;  #X&gt; Þa b a b a b(&gt; &gt; 7 7 7 &gt; ! &gt; Return to the original dependent variable, C œ @ ÞÎ# 33. The solution to the initial value problem , isC  #C œ ! C! œ C &gt; œ / Þ w þ #&gt; a b a b B Therefore in the interval the sense isa b a b a b œ C œ œ Þ ß _ ß ## C  C œ ! C &gt; œ -/ Þ C œ C œ C œ C œ C œ C œ C œ C œ C œ C œ C œ C œ C œ C
œ C œ C œ C œ C œ C œ C  # # # # # # # w &gt; , therefore equats to the limit values that are C œ Þ / - Ÿ &gt; Ÿ / &gt;  a b œ #&gt; a &gt;, note on the lack of continuity of derivative C &gt; þ # #/.  &gt;  / &gt;  a b œ #&gt; a &gt; , www.ziie.ir 54. —————————————————————————— —— 2.
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Az egyensúlyi pont esetében az egyetlen egyensúlyi pont a . therefore the balanceC ! C œ! 0 ! œ +  !! ‡ w solution b .9a b&gt; œ ! unstable 2. The equilibrium points and . , therefore C œ • +Î, C œ ! ! The  b equilibrium solution :9a
b&gt; œ × ×, asymptotically stable 3. www.ziie.ir 55 —————————————————————————— —— 2.
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________The
only equilibrium point is . , so the equilibrium solution C œ ! 0 !  !‡ w a b 9a b&gt; œ! unstable 5. The only point of equilibrium is . , so the equilibrium solution C œ ! 0 !  !‡ w a b 9a b&gt; œ! .+=C7:&gt;9&gt;3-+66C stable 6. www.ziie.ir 56. —————————————————————————— —— Article 2(2) shall be replaced by the following:
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Note that and that . C œ 0 œ ! C ! C ‡ w a b As long as the right solution is . That's why A.T.A. the monotonous-decreasing equilibrium solution is .9a b&gt; œ semistable 9. www.ziie.ir 57. —————————————————————————— —— 2 is replaced by the following:
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
. The equilibrium solution C œ! 0 C œ - $C‡ w # a b 9a b&gt; œ ! and the remaining two are .unstable asymptotically stable 11. 12. The equilibrium points are as follows: . . The equilibrium solutionsC œ ! # 0 C œ )C % C‡ w $ a b 9 9a b a b&gt; œ # &gt; œ  #and and , respectively. The unstable asymptotically stable equilibrium solution is .9a b&gt; œ ! semistable www.ziie.ir 58. —————————————————————————— —— 2.
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
. Both balanceC œ ! 0 C œ #C C  %C‡ w # $ a b solutions .semistable 15 . Reverse the solution, Eq. shows as a function of the populationa b a b a b + $ &gt; C and the burdenb loadb . The O C œ OÎ$! &gt; œ  68 Þ Î$  CÎO &lt; CÎO  Î$ º º a bc da b Setting ,C œ #C! 7 œ  68 Þ Î$  #Î$ &lt; #Î$  Î$ º º a bc da b a bc da b That is, If , .7 7œ 68 % Þ &lt; œ ! Þ!#&amp;œ &amp;&amp;Þ%&amp; &lt; per year years a b a b, Þ $C ÎO œ CÎO œIn Eq. , set and . As a result, we obtain! ! X œ  68 Þ  &lt;  º º c d c d ! ! Given , and , .! 7œ !
Þ œ ! Þ* &lt; œ ! Þ!#&amp;œ (&amp;Þ()per year years 16 .a b+ www.ziie.ir 59. —————————————————————————— ——CHAPTER 2. ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Consider the change of variable Differentiating both sides
with? œ 68 CÎO Þa b respect to , into the Gompertz equation yields , with&gt; ? œ C ÎCÞ ? œ a &lt;?w w megoldás Ez következik következik Az? Is it him? / Þ 68 CÎO œ 68 C ÎO / Þ! ! a &lt;&gt; a &lt;&gt; b a b C O œ /B: 68 C ÎO / Þ 'a b! a b a b+ O œ &lt;&gt;)! C ÎO œ! Þ#&amp; &lt; œ ! Þ( C # œ &amp;amp; Þ&amp;* !. Given, and, '. ! annually a b, Þ &gt;Solving for, &gt; œ 68 Þ 68 CÎO &lt; 68 CÎO • a b a b! Setup , the right time . C œ ! Þ(&amp;O œ #Þ#a b7 7 years 19 #12 &gt; . Z Î.&gt; œ E.2Î.&gt;Þ! È constant Therefore, the regulating
equation .2Î.&gt; œ 5 + #12 ÎEÞ € ‰È! b € ‰, Þ .2Î.&gt; œ ! 2 œ ÞSetting , the equilibrium height is additionally, since / 5 #1 + # # 0 2  !w a b/ , it follows that the equilibrium height .asymptotically stable a b a b- , 2. According to the answer, the water level is partly close by nature ./ Therefore, the height of the tank must be; i.e. .greater 2  Z ÎE/ / 22 . The equilibrium points are the and . Since , thea b a b + C œ ! C œ 0 C œ € # C‡ ‡ w ! equilibrium solution and equilibrium solution 9 9œ ! œ unstable asymptotically stable. a b c da b, C ( C
. C œ .&gt;. The ODE can be isolated from the . Integrating both sides and the ! referring to the initial state, the solution C &gt; œ Þ C / - C  C / a b ! ! ! ! &gt; &gt; Obviously independent and .a b a b a c C &gt; œ ! C &gt; œ ! �_ _ lim &gt; Ä &gt; Ä 23 .a b+ C &gt; œ C / Þ! � &gt; b a b, + . BÎ.&gt; œ B C / Þ . BÎB œ C / .&gt; Þ. Part , Separation of Variables,! !! ! the solution &gt; &gt; the following: Integration of both sides, solution B &gt; œ B /B: C Î or Þa b  '€ €!!! &gt; a b a b a b- &gt; p _ C &gt; p ! B &gt; p B /B: C Î Þ. As , and for a while,
a! !! hosszú www.ziie.ir 60. —————————————————————————— —— 2. __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ Ezért a lakosság azon aránya, amely kibújik a járvány elől, az abban az időben megmaradt, fogékony B /B: C Î Þ! !a b! 25 . Note that the and .
So if b a b c d a b a ba b+ 0 B œ B V • V • + B 0 B œ V • # + B - - # w # a bV • V  ! B œ! 0 !  !- , the only point of equilibrium is . and so the solution is w 9a b&gt; œ ! a .asymptotically stable a b a b a bÈ, V • V  ! B œ! V , V Î+ Þ. If there are equilibrium points ,- -three ‡ Now and . Therefore, the solution is 0 !  ! 0 V • V Î+ ! œ !w w a b a b € ‰È - 9 is unstable and the solutions are 0,9 œ V • V Î+Èa b- asymptotically stable in b- . www.ziie.ir 61. —————————————————————————— —— 2. Page 60 2.6 1. And.
Since the equation q bß C œ #B  $ R Bß C œ #C # # Q œ R œ !a b a b C B is accurate. Integrating a while constant, yieldsQ B C&lt;a bBß C œ œ B  $B  2 C œ 2 C R # w a b a b. Now, and equat the results with the possible &lt;C function. Therefore, and the solution is 2 C œ C , #C Bß C œ B  $B  C , #Ca b a b# # &lt; a .implicitly B  $B  C - #C œ -# 2. And. It is noted that the differential formula Q Bß C œ #B  %C R Bß C œ #B #C Q Á Ra b a b C B is not accurate. 4. First divide both sides by b#BC  # Þ Q Bß C œ C
R Bß C œ Ba b a band . Since the resulting equation Q œ R œ ! C B exactly. The integration of Q in B is c &lt;a b a bBß C œ BC  2 C. A (a), we find that , and thusC œ B  2 C œ R 2 C œ œ ! 2 C œ !&lt; &lt;C W w a b a b abASet is acceptable. Therefore, the solution is defined . Remember that haimplicitly bc œ - BC  œ! , the equation is trivially satisfied. 6. Type the equation you specify as follows: . Nowa b a b+B ,C . B  , B - C . C Q Bß C œ +B , C and . Since the differential formula is not accurate between Bß C œ , B - C Q Á
Ra b B B. 8 and . Note that Q Bß C œ / =38 C  $C R Bß C œ a $B  / =38 C Q A Ra b a bB B B B, therefore the differential formula is not accurate. 10th and . Since the given Q Bß C œ CÎB  B R Bß C œ 68 B * # Q œ R œ ÎBa b equation b C B is accurate. In terms of constant temperature integration inR C B &lt;a b a b bBß C œ C 68 B - #C  2 B Þ B œ CÎB  2 BAA -setting &lt; with respect to this thing we find . Therefore, &lt;B œ Q 2 B œ 'B 2 B œ $Bw # a b a b is defined as $B # C 68 B • #C œ - 11. And. It is noted that and
thusq Bß C œ B 68 C  BC R Bß C œ C 68 B  BC Q Á Ra b a b C B a differential formula is not accurate. 13. Q Bß C œ #B the C R Bß C œ #C A B œ R œ a a b a band . Because the equation C B is accurate. In terms of integration, while constant, yieldsQ B C &lt;a bBß C œ œ B bc  2 C œ B  2 C R 2 C œ #C# w w a b a b. Now . &lt; &lt;C C and so on according to results. Thus, and the solution 2 C œ C Bß C œ B bc  Ca b a b# # &lt; implicitly, as B BC  C œ - C œ $# . Referring to the initial state, the solution is b* BC  C
œ (# # . The express form of the solution is C B œ B  #) $B Þa b ' È # # Therefore, the solution is valid until $B Ÿ #) Þ# 16. Q Bß C œ C /  B R Bß C œ , B / Q œ /  #BC /a b a b#BC #BC #BC #BC and . Remember that C and that equation œ , /  #, BC / ÞB will #BC #BC until . Integrating, œ www.ziie.ir www.ziie.ir
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